Final examination solutions / 2006.5.9 / Biocalculus (Honors Calculus I) / MAT 1214.009

S (u\”c
2 L
\ [ 4
2 % 1 2 t

L t
Cﬂklnuo‘\!ij A(Smé‘\nms ot t‘=—| :

@ ) (&)l: - M:\m el
kmo b hoo (ST IR

R L

D (2%7) s b2 2T ERD

>

<) ("QL“">"' T

@ jzm(n?) \]/-
— —")x
\a": b .25‘_ - 2= l
[+ (x*)* | -y
o z(u—x“) -—2;<-‘(-7<3, ;hp_x“—%x('
(L +=*)e (l+ =9*
- &Eﬁ €O whe w72 X \
@\ 2 /
Cli&K) 1. 7571—}:—;0{!'(_"_‘6:;
¥ .76

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



@ et Lom = x qo0
Hew  Fleo = 9 (9 +X3’(>=1 | s Liyze 4 (1= 2
Tm:v.* Dine j: -{’-(_o]—}-vF'(o}x = (0% 2o = 2pe
t \J::Z')C

S

@ ") L\\m -t Sﬁk(-—l"f") :l/\'m —‘-L—ry;_\(u\; l
WS>

1= eo

Liw g = L i<+ tvial) ,_?f 6 |

R ) L v
by L Vim0 tecame -] £ S0 )
t e -
eita LFY I\ :g/(n r-u.\t.)
s -'J? d + é"‘i (S‘:\c.q, S law
O o
—t%
'y\(—t\
k"":’“‘p E-ﬂl‘)ﬂ 't L_______._
' el
@ ye TExley
L o.n[n:x CenLno

]
C-cf)['\'x > _ .QM ~ C“"\"y '.‘Lx) ly
( ‘g?L'\' ( I A,
P T
l d x ﬂML)‘ _ >

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



@ bbju. e Miniw ke L‘s'?’a-..u- ‘o e N:QL“
TG-:S‘:S%\/- A-b M.A.:V\Il-lue—im .(t 3754@{‘:_
f@cﬂcélﬁ =2 *"E}l = w? o+ C2-2*-§?'
L'ixre Qu + 2(2-2>DCE2D
_a(e + e~ 2 ($=—H

-

wlom X = -—d%: So a:&—-@#

f
'C (x=° .
2
= St = e
S

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



@ [Z."c J) Leku.ﬂ.'l/a gl clearance

do de
o Ze
2o / 29 /
to N = le
o 1 Y & . +—>
s I R f:——lo h{———'f-———)

Ti) acea 25430 ¢ _ << 4 l'i.tz?;f.{:zaf
2

P Aﬂ—b‘#—wuu\q}\'d‘-\ q;\‘ '\LG—L -anD q "'uq&\/v\m..:‘- MLM—
| 3 C’-f
Ty will clesv Lil'\r i fg | L%_i__}) ""'H” '{'w&wv-g G

CJV‘CBM\Y&:I'\O— Luv; a \ﬂal weare (4 S iy 1Xe wgﬂ
Bt The %\K\a\ rmaw s at ta JQWM&—T

25
Z2e0 1$e
low L'L‘;

- e

‘ &
©F gﬂ.mm:g 2 20T £T
) — 1 t

1 . ¢
< ’\+2£’L2’4— l)&"U"‘t § Ak *t\\

e
‘ R R A ]
i Al

L.,.L}«—Qf-?-*f(/’ap/('-\
|

. & '\«IE"O
L) \lw(—r%wu._ %%uﬁ%)\ofr(?’“ (te) )

(V]

g\ ,S_S_Zr.—.rc;ﬁ/
;%.-—\Ié’ T

I\

-
-

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



